o3} 22 BPAPAE ABCD o4 AB = 10cm , AD — Gem 2 1,

D ©] Zo|g Fatolet.

se

A -6cmy

% DolA BC 9] 9% %01]141%4 19] W& E 2kl shAf.
AABC 94 AC = v - 62 = V64 = 8(cm)
ABDE 94 BD = m = V208 = 4 V13(cm)




the 1 Zo] AAZEE ABCD ©f Wil A P 7 oS w, 1% —)?
o] gr&-Fstolet,

A 2D
\33\ P ‘5//

(@)5 @ 6 ® 7 @ 8 ®9

X+ (2V5)2 =52 457,02 —? = 2520 = 5 O]tk




oS IO AB =4, /B=45°, /C = A

30° ¢l AABC ol|A 214 A o4 BC 4/

of W& 4ol dre H 2yl & uff, BC g

o] Aol=? JEVAc i 30 I\
26

© 4v3 @ 146 ® 2v3 4+ 2Y0

@)2vz+2+6 ® 82




4. o I8 ACx AD & oozt

@ 50v2 @ 52v2 @54\/5 @ 56vV2 O 58V2

~&B

A_C:12:\/§:2,

2AC =123

. AC=6+3

AD:6V3=1:2

6V3 6\/_

5 =36
E}E}HA_CXAD:G\/_XS\/_:E)AL\/?O]E}‘

~ AD=—




y=x*>+4x+4
y = (x+ 2)? °|EZ 0]
y=2x>-4x+5

whebd 5 4 Aold] A

y=2(x—1)243 o|B& o] 9]

V{1- (-2}’ +(3-0)2 = VI8 = 3v2 o]k,




CF

GE

AEDG

DH

AABC + AEFB + AGDE

@ DABED = oCFGH + AAHD +

O aABC

@nac

~_.__.o_.0

A

Z0

)

s

® oCFGH

BC - BF

BF, CF

=GE

DH

@ AC




